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I. Stress differences in —avaj— and —j—a- stems.

Problem: In some instances, differently stressed, but segmentally identical stem-
types, have different conjugations, according to the Jakobsonian system. This is an
unnecessary complication, especially for pedagogical purposes. Solutions are
discussed which remove stress differences as a factor in using stems to predict
verbal paradigms.

A. paBan-, -cTaBavi-, -3HaBau- type.

1. As introduced by Jakobson, implies a stressed -va- as the environment, in order
for this syllable to be deleted in the present tense.

2. Therefore, the stem nnaean- is not considered an exception, in spite of ending
in the identical segmental —avaj-, and it does not appear in Jakobson's exception
list. (The archaic nomaBan- is a real exception to Jakobson's system, but is not
listed either, perhaps due to its archaic nature or just as an oversight.)

3. Reasons for wanting to change the paBai- type:

a. The vast majority of basic stems use only segments, not stress as
predictors, so this complicates the system for a small number of verbs.

b. The rule specifying the loss of -va- is isolated and was originally grouped
with the "disappearing (nu)" verbs, since both lose a whole syllable. But, -va-
truncation is even less motivated, since it is not even stem-final.

4. The use of stress as a conditioning factor and the loss of the whole syllable -va-
can be eliminated by referring to these stems as: -ava-, i.e. gaBa-.

5. Analogous to -ova-, —ava- would be a subspecies of -a- stems, which
experience the truncation of -a before vowel endings of the present tense. They
also form a connected group in that they have the glide mutation of v—j, described
in detail by Flier.

6. Note that when the -ov- of an ova- verb is part of the root, a rule specifies that
the present tense stress is on the ending (kyi, Ky&éT, etc.). Significantly, the -ava
type has —av- as part of the root (dav-a-) and the stress rule is identical (paio,
Aaéwsb, etc.). (It should be noted that Flier, in spite of his use of glide mutation,

retains the rule which deletes the entire -va- sequence in the present tense, with no
commentary as to the stress restrictions on this phenomenon).

If one does consider that the basic stem is gaBa-, belonging to a separate -ava-
group, the major difficulty is the imperative, naBan, which could be described either
as a stem alternation to davaj- in the imperative, or as the use of an irregular
imperative ending —j. Although Laskowski opts for the special —j ending in his
version of the Polish one-stem system, | prefer the solution of a different stem in
the imperative. Irregular imperative stems also can be found in cases such as cbinb,
Kanb, 6eru, but there is no case for a unique imperative ending. Therefore, | prefer
the option of basic gaBa-, with an irregular imperative. The use of this same
irregular stem pasaii- for the gerund is less of a problem, since -a suffixed verbs
do not normally form a gerund from their basic stem in any case, preferring
suppletive stems, such as nonuceiBas, in the absence of a gerund from nuca-.

B. Stress and irregular —j-a- stems.

1. The major problem here is that of distinguishing the basic stems of Conj. Il "za-
verbs" and Conj. | "a-verbs." For Jakobson, this was only an issue when the a-suffix
received the stress, since he only differentiated Conj. | and Il desinences when they
were stressed; i.e. an assignment to Conj. Il was only necessary when the endings
were stressed. However, due to the less standard status of the neutralized 3pl
ending (e.g. *xépaloT, instead of x6a4T), and the need to teach students the
orthography of unstressed present tense endings, modern handbooks correctly seek
to assign Conj. | or Il even for verbs with constant root-stress, where the endings
remain unstressed.

2. Based on the above considerations of stress, Jakobson assigned the stems
stoja-/boja- to Conjugation Il. The similar Conj. | stem shape, smeja-, therefore,
was considered to be an exception and entered Jakobson's list of exceptional types.
The larger number of root stressed verbs with stems in —ja-, such as séja-, laja-,
véja-, etc., did not even receive a conjugational assignment, since they used the
single neutralized set of unstressed endings in Jakobson's system.

3. However, we can solve this differently, in order to avoid the situation in which
the three stems stoja—, smeja-, and seja- are ambiguous in predicting their
paradigm. In the first place, smeja- and seja- can predict Conj. | with no accentual
information needed for this purpose. We can further observe that stems in oja- are
of the Conj. Il type, but others in ja- belong to Conj. I. Therefore, | would suggest

that stoja- and boja- belong to an oja- type, which is a subtype of the "za" type,
analogous to the ova- subtype of the a- type.



C. Thus, in order to avoid the need to consider stress as a factor which
differentiates verbal stem-types, | would include the following:

Conj. |

1. a- pisa-, seja-, smeja- (sja)

2. ova-type: trebova-, kova- 3. ava-type: dava-, -stava-, -znava-
(irregular imperative and gerund in -aj)

Conj. Il

1. za-type: derza-, dysa- 2. oja-type: stoja-, boja- (sja)

Il. Regular properties of exceptional verb stems.

Jakobson divides exceptional stems into two types:

a. A less regular type, in which a secondary stem is used in a somewhat haphazard
number of forms that is hard to classify. E.g. 6er- in 1sg, 3pl, and impv.; 6exa-
otherwise.

b. A second type of "regular irregulars,” in which there are two stems, with one
used before vocalic endings and the other before consonantal.

Some of the regular properties of the second type can be incorporated in listings of
verbs, rather than just listing them as exceptional. All such verbs can be divided
into two types:

1. Those with unexpected (or reversed) mutation: if the basic form predicts any
present tense mutation, there is none; if the basic form predicts no mutation, there
is constant mutation in all present and imperative forms. These stems can be
represented by indicating "(M)" after the basic stem. For example, basic stems
stona- (M) and reve- (M) both predict at least some present tense mutation, but the
"M" means that the mutation is reversed and there is none in the present.
Conversely, st/la- (M) and sla- (M) have basic stems with non-syllabic roots that
predict no mutation, but the "M" means that full mutation does occur in the present
tense (in the case of sla- the mutation is of the Church Slavonic type, sl-Sl').

2. Those with a switch in the first vowel of the basic stem. If the basic stem ends in
a vowel, the primary basic stem occurs before consonantal endings and the
"switched" stem occurs before vowel endings; conversely, if the basic stem ends in a
consonant, the primary stem occurs before vowel endings and the "switched" stem
occurs before consonant endings.

Examples:
Primary E.g. Secondary E.g.
Basic Stem Stem With
Switched Vowel

Moso- (e) MOJIO-J1 MeJsio- Mesio-y->Mesntd

MOJIO-Tb
non- (e) non-y (noto) nen- nen-na--nesa, nen-Tb->neTb
can- (e) can-y cen- cen-na-»cena, cef-Tb-»CeCTb
bpen- (1 6pen-y (bpeto) bpun- 6pUi-Tb->BOPUTD
cna- (n) cna-n cnu- cnn-y-»Ccniwo

cna-Tb
r/Ha- (1) rHa-n r/o/Hun- r/o/HN-aT->rOHAT

rHa-Tb

(In the anomalous 6ya-, the secondary stem changes not only the vowel, but
consonant to zero as well: 6ya- (bl-).)

Thus, exceptional verbs could be presented as follows: sosa- (M), reve- (M), poj-
(e), spa- (i), etc.



III. Stems with vowel complications (mutation of stem vowels or zero-vowel are in the basic stem).

Russian Verb Summary

1. oii- oii > b1 before consonant MOM-yT (MOKOT) ~ MBI__-Th MBI -1l
I. Simple Non-Suffixed (All Conj. I) . . .
A. Resonant B/s/it )K?IB_};T KH__-Tb K -1 2. Co/it- .lnsertte((ii -]la/l-.be'fore cons. .el’ldltl'g. Ob/f-yT (IBIOT) 0H__-Th ~ IH__-I
eyt ne_ -Th ne -1 inserted -E- in imperative: mei!
AyE-yT (11yroT) y__-Th ny__-n . - .
*This type regularly drops the stem-final v/n/j before a consonant ending; i.e. its C-C behavior 3. Clp- Two .mserted E- V(?.WC.IS ininfin.  T/p-yr Tepe-Te Tep-__
is regular. One inserted -E- (-E-) in past Tép-na

plus obstruent type behavior of -p-i.

The following "Obstruent" types all have special C-C behavior, other than simple loss of the 4. C/H-, C/M-
first C.B. Obstruent 6/c/3 pe6-yT rpec-TH rpé6- , rpe6-na In_serted —A_— before consonants, M/H-YT MS__-Tb Mi_-ma )
HeC-yT Hec-TH Héc- |, Hec-na with softem_ng of previous Ha4/H-yT Haya__ -Thb Haya__ -Ja
IPBI3-yT IPBI3-Th IPbi3-__, IpbI3-Ta consonant, if possible.
*The 6/c/3 do not drop before consonant ending; but -1 drops in masculine past. . .
C. Obstruent /1 MeT-yT MeC-TI ME -1, Me  -na o Nasal n/m appear intact befc_>re a vowel epdmg. Before a consonant, the nasal drops and -
BeA-yT Bec-TH BE -m Be -na a- is inserted, together with softening of preceding consonant (looks like inserted -s-).
*The /1 change to c- before infinitive -5 and DROP before past-tense -11. .
D. Obstruent x/ neK-yT nedb néK-__, mex-a 5. WM, HUM
MOT-yT MOYb MOT-__, MOT-J1a ) . .
*The K/r combine with -Tb to give -4 (spelled -ub); they act like 6/c/3 before past -11. In the special case of -lI/M- (afFer vowels) and -HIIM- (after consonants), the sequence -HI- is
Velars k/r mutate to u/x before the -e- (-é-) endings of the present tense: mey-&T, MOXK-€T. used when the stem-final nasal is lost. L , B
HOH/M-yT HOHSI__-Th IIOHS__ -JIa
II. Suffixed CHHM-yT CHi -Tb  CHA_-Id
A. Conj. I Suffixed: All share First Person Sing. Mutation if the presuffixal consonant can 6. CC-a (Sometimes called ns-a.) ,
mutate. All have stems ending in soft (or historically soft) consonant plus a single vowel suffix. bep-yr 6pa-p Gpa-n
1. -u- IIIATH-Th nmad__ -y mIaT__ -sT 30B-yT 3Ba-Th 3Ba-I
2. -e- BHJIE-Th BHK -y BHI__-AT KAYT KIa-Th a1t
3. -xa-/-oita JepKA-Th AEpK__-y JCpXK__-ar . . .
. L L. Lacks the present tense mutation of a-suffixed verbs. If a slash appears in the basic stem (6/pa-,
Ccroua-Th CToM__-y cron__-at 3/Ba-, i/pa-), a vowel inserted in the present tense system (present and imperative), i.e. before
(cTosi-Tb) (cTo10) (cTosT) vowel endings.
B. Conjugation I Suffixed: Split between aii/eit/ny suffixes which do NOT cause mutation, and 7. C/C obstruent stems: K/T- XKT-Y, HK-€IIb, KI-YT

a/oBa/aBa/o, which DO. Note that the non-mutating suffixes contain two segments, while the

_ kK/8/T, %/T-Na; KCUb
mutating type has one or three.

The following types (with VC or CV suffixes) do not have mutation in the present. -u/T-: yuT-y, y4T-Elllb, YUT-YT
1. aii/eit Jenai-yT (aenarT) nena_ -Tb nena_ -n . ,
HMEH-yT (MMEIOT) uMe _ -Thb uMme -1 Yu/&/__-m, yu/__-na; yuects
2. ny/(ny) MPBITH_-yT HPBITHY-Th MPBITHY-TT
ocnabH_-yT ocnabHy-Tb ocnabd__ -

Parenthesized (uy) refers to the subtype which loses the whole suffix in the pastgnse. When

that happens, the verb acts like an a non-suffixed verb with whatever consonant preceded (uy). 8. Exceptions:  a. Unexpected present mutation: crona- (M), cr/ta- (M), pese- (M)

b. "Switch" of first stem vowel: MoJ1o- (), moi- (e), opeii- (n),

The following four types (all ending in non-high, non-front a, 0) have mutation in all
cna- (n), r/Ha- (1).

present forms, if possible.

3. a l'II/iLLli-yT IHCa-Th nHca-II
4. oBa TpeOyH-yT TpedoBa-Th TpedoBa-i . .
(-oB- mutates to -yii- throughout present tense) c. Isolated exceptions: Oexa- (Oer- lsg, 3pl, impv.)
5. aBa naii-yT (1aroT) N1aBa-Th naBa-n xore- (xota- Sing.)
(-aB- mutates to -aii- throughout present tense; but imperative and gerund use stem -aBaif) cpina- (Chlnu- impv.)
6. 0 KOIB-yT (KOTTIOT) KOJIO-Th KONO-TT Kkama- (Kanu- impv.)

d. Anomalous ua- (u- inf.)



